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Question 1
Correct

Marked out of 2.00

Question 2
Correct

Marked out of 2.00

Select one:

Given the initial value problem:  Then 



+ 3x + y = 0, x > 0  y(1) = 4, (1) = 0.x2y′′ y′ y′ y(1) =

8
e

− 4
e

1
e

4

4
e

The correct answer is: 4

Select one:

The inverse Laplace transform  equals



{ }L
−1 s

−6s+10s2

( cos t + 3 sin t)e3t

( cos 2t − sin 2t)e−2t

( cos 2t − sin 2t)e2t

( cos t + sin t)e3t

cos 2te−2t

The correct answer is: ( cos t + 3 sin t)e3t
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Question 3
Correct

Marked out of 2.00

Select one:

The Laplace transform of the solution of the IVP:
 satisfies:



(t) − (t) − f(t) = t, f(0) = (0) = 0f ′′ f ′ f ′

F(s) = 1
s( +s+1)s2

F(s) = 1
s( −s−1)s2

F(s) = 1
s( +s−1)s2

F(s) = 1
( −s−1)s2 s2

F(s) = 1
s( −s+1)s2

The correct answer is: F(s) = 1
( −s−1)s2 s2
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Question 4
Correct

Marked out of 3.00

Use the table of Laplace transforms or the formula:
,

to determine the following expressions.
L{ f(t)} = (L{f(t)})tn (−1)n dn

dsn

L{t sin 3t}
2s

( +1)s2 2

4s

( +4)s2 2

−4s2

( +4)s2 2

−1s2

( +1)s2 2

 6s

( +9)s2 2

−9s2

( +9)s2 2

The correct answer is: 6s

( +9)s2 2

L{ sin 3t}t2

2s( −27)s2

( +9)s2 3

2(3  −1)s2

( +1)s2 3

4(3  −4)s2

( +4)s2 3

2s( −3)s2

( +1)s2 3

2s( −12)s2

( +4)s2 3

 18( −3)s2

( +9)s2 3

The correct answer is: 18( −3)s2

( +9)s2 3
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Question 5
Correct

Marked out of 3.00

Use the table of Laplace transforms or the formula:
,

to determine the following expressions.
{ (F(s))} = {F(s)}L

−1 dn

dsn
(−t)nL−1

{− }L
−1 8

(s−5)(s+3)

2  sinh(t)e−4 t

−2  sinh(2  t)
 −2  sinh(4  t)et

−2  sinh(t)e4 t

2  sinh(4  t)e−t

−2  sinh(t)

The correct answer is: −2  sinh(4  t)et

{ ln ( )}L
−1 s+3

s−5

 2 sinh(4 t)et

t

−
2 sinh(t)e−4 t

t

−
2 sinh(4 t)e−t

t
2 sinh(t)

t
2 sinh(2 t)

t
2 sinh(t)e4 t

t

The correct answer is: 
2 sinh(4 t)et

t
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